oo = == == ==[1[]

1080 00 0dgddoooon
oo

ooo:

OO0 : 2019/5/9 8:49:32

OO0O00oO0oo0O0oo1080s5010

0000000000 10800369020

oooooo

ooooooooooogo

ood
0000oD0oo0ooooooooooooooooooooooolestooooooooog
oooooogoooooooon

odd

O00000000oooooboooi1o80403000000000O10800462710 0000
goooooolsno40220(0O0)0De0280 (D OO)0DOOODOOOO
0000000000000 00000D00000D0000D0O000O(02)2596-585802080 0000
0 Gs130710@cyc. twll
00000o000oooouooooooooooo/0000/0000/000000@OO
Ghttps://ww. tyc.edu.tw/home. jsp?id=30&parentpath=0,26,28)]

http://163.30.202.2 2024/5/20 0:41:49 - 1


mailto:Gs130710@cyc.tw�C
Ghttps://www.tyc.edu.tw/home.jsp?id=30&parentpath=0
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

